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Max. Marks : 70

(5x2=10)

(3x6=18)

Vl Semester B.Com. Examination, Aug./Sept. 2028
(CBCS) (Repeaters) (201 Z -20't8 and-Onwards)

COMMERCE
Paper - 6.5 : Performance Management (Erective paper - lll)

Time : 3 Hours

lnstruction : Answer shoutd be written in Engtish or Kannada.

SECTION - A
Sqarl - a

Answer any 5 questions. Each carries 2 marks,
odn$aaddro 5 €,d4rl$erl erudoa. €,9 dd4ri 2 eroddsr.

1. a) Define product design.
erud$ e65)d$dda q,aqetu.

b) What is PV ratio ?
eb& cdJmd ooddedt t

c) What is margin of safety ?
xbdddoCr eoz$ aodde$ ta\

d) State any two objectives of standard costing.

€,ilasdd dqd odraderafdn add: wdedrl$d1$e,r.

e) What is budgetary control ?
ude,gr &o$:o$eo aodded: t

f) What is performance analysis ?
rooilrddtdo$ a*edd oodded: t

olr

g) Write the formuta fo*r'current ratio and quick ratio.

44d erdre"d 6$8 d*od erd:raddr 
i,ng,dd:o 

mdou:o.

SECTION - B

Answer any 3 questions. Each qr"*ti:fl];]. 6 marks.
o3ndoaddo 3 €,-d4ilpri erudotr. d.g ddod 6 erodrl$b.

State the objectives of budgetary control.
udttr &oJ:o$ ead wdedrl$$o ast.

Explain ethical issues in transfer pricing.
drnrdd ?^ido$O_ d-Bd fr abd,, rl$dl edo,tu.

:

2.

3.

6Z--\?")
* lLlBRARyl*

P.T.O,
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4' The PA/ ratio of A Ltd' is 507o and the margin of safety is 40%. you are requiredto carcurare net proril and break 
Sven ffi;ir rrrr, ,ioru;;;; T 20,00,000.a o.):p,jar;J enq,d dodrDsad ?**J,I ,r* ,Jre #!#erczd:40% snd.

H[3-,*n*3T.8,;,-*o*na':*;Gj'uer;;#J#;6,reo,oo,ooo
5. carcurate t-le^m]ssing figures with herp of foilowing information :BEp = 90,000, profiL i,S00, Fixed cost = 6,000lffhat is the amount of variable cost ? 

t'uuu

ii$nd $atugo$ dm;o$oocradolnd uo*r1$d1 eJraozmd dn* :BEp = 90,000, eDd = t,soo. ; J,-i="o';X 'oro*o asnG :

deooi:eu*r aqa xng aq i' 
:6d dq= 6'oob e

6. Explain sources of management information.
&drdraa at:)&eo$ A:oorf*q adD&.

SECTION - C
a?,&d _:j

Answer any 3 questions. Each question .rrri.* 14 marks.oindoad* t 
?j:Lyls..,gotu- d. Es.rr 14 uodrtq;b. (3x14=421

' fiffiffiTlffii[,iffiilfil;;']*,* wourd have rhe ro'owins
Selling price per unit t g00
Variable cost per unit t 1gS
Salesman,s commission (variable) t 1S per unit.Fixed expenses inctudes _ i"nt t og,99o, ud.ri 2,81,00.0,Advertisement T 79,000, .unOri** T g0,000.
You are required to calculate :
a) Annual BEp in units,and sales value
b) profit or toss of the stores ir s5,000 units are sord.a O-):t^Jd doil&ol:: abdooa: eEgndogd r :oilaod:dl ddcC:er: &drox,d "qdd dqfub
dnoao; dqt gOO 

€,e #Frdd
?reserrrbd dar,f 1gS d,A *uiA*

*Ty a*p"r"aiB;-il8 
d,s dr^iad

t1-% . TGrt 
_ T 60,00o, dou6_ * z,ei,ooo

esE&eo-r$ dzj _ T 79,000, .add dq_ f'#,ilo
* tli1}l-f,,. dod:tsoaoc,u- "% - \ '5u,uuo

a) di.hrd O*y oll0$,fd0_at * dnoaui t,Jdo$O_
b) 8s,000 +r^:rfrqb Anmul#"tsa cn6/d{,.

';.1 I
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8. The standard cost of a certain in a chemical mixture is
- 40% materials A at t 40 per ton

60% materials B at T B0 per ion
A standard loss of fi% is expected in production.' Actual cost of material used is :

90 tons of material A at a cost of t 42 per ton
160 tons of material B at a cost of T 23 per ton, actual output is 230 tons.
Calculate all material variances.
t"od: ooxaoJ:&d tu4sad -'q)ul:)m d{rl*t :

40% dcndrrlq;b A t 40 {,.8 uifri
' 60% denfrrrlq;b B T A0 €,9 Bil{ri

wdj o3:O_ 1 0% d-'d,* d dn ra d{ e o es fr en ft d.
mH&d x,adrD da!fl$ :

90 BNr denfirrl$: A €,S rJil'ri t 42" 160 E^36r6 dero@rrlvb B 4.4 t;ofrt T 23, aroded wmldd 230 [^]F6rlst)

di a3:e0d addrleod aog;oubry dsddo$d$q dod:bGo$:o.

' 9. The budget overhead and cost driver volume of SA Ltd. are as follows :

Cost,pool Budget overhead Cost driver Budget volume
Material procurement ,;3,20,000 No. of orders g00
Machine setup 9,00,000 No. of setups S00
Maintenance 1,9s,000 Maintenance hours g,000
Quality control 1,70,000 No. of inspections gsO

Machinery 4,2s,000 No. of machine hrs. as,000
The company has produced a batch of 3000 components of ,X,. lts material
cost was { 1,20,000 and labour cost was T 2,30,000. The usage of activities of
this batch are as follows I ,

Material orders 20
Setup of machines Zs
Maintenance hours 600
No. of inspections g0

Machine hours - 2,000
Calculate the cost drivers rates that are used for computing.the appropriate
amount of overhead to this batch and ascertain the cost of the batch of the
component using the activity based costing.
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7iEabry a)oe6

od;o$ qild
0drexbcf
ri:eaailulo ilrarol:
o$o$dSc

ax6. nt. oaJ0,Sard eoo?trJ dndend ;bewdaLa3rd: aosd dodnm ds dsdodosd.
dafno!,Ed dul uae.:d

1A

rll]iltililfitilltlllil!fllllt

erot'0t3)

dndend
dOdDso

.AARP\\/\/t rc,/(,l

d,mdend

d:ee))d&d
,l

3,20,000

3,00,000

1,95,000

1,70,000

4,25,000

sidedrl$ Soa3, 800

qddil$ doa3u 500

Odrdd rlo8rlgc 3,000
doaed#rl$ noa{ 850

10.

11.

o$o$rl$ uoe.: 25,000
dodCIo$ t ocb udQoJ:O-e.oc3: dodd 3000 eorld$r$n'X' deosr dodJloxrd. .add

moatlgil$ dr[< 1,20,000 E$* dra0 aDe$r {.2,30,000. erudoSoehHe.:os. dodd
LJ[^Ddt;f add 6r E$dodoed.

mablrl$ erdedrl$: 2A

al:o$ *Bdd 25

Odrdd rlop,3rlsb 600

dofreddd$ foa{ - 30

o3rog en:doSoeit tr)o - 2,000

d* dodd dndaad ahee.t:dzfld ddd&4 aedd dndw erudoSoefiiend dafl mod
ddd$4 dodr&Gouo abQ a3mdnJf ereaod $atr e6a$ood dr dcdd dcmsr
d oJD odc$ eld d?,tdd1 dodr& E oo: o.

What are the needs and advantages of performance management information
system ?

CIcdrr*abd Sdrd#o $abg drd{d urld, afrq edodneril$t o$}dd) ? getu.
ei0r

a) What are the objectives of activity based costing ?

b) Briefly explain the steps in target costing.

a) a3uudt:# er6tod d{en{d erudedrl$,: oJndtd r
b) rbo d{m{d do$rl$dl Bo*ilarofl iltosr.


